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Type some Sage code below and press Evaluate.

1 a=[1]

+ for k in range(2,20): #range(2,6) means 2,3,4,5
p=a[-1] #means the last element of the list a
new=1+1/p
a += [new);

SV aEWwN

show(a)

anum=[b.n() for b in al;
show(anum)
show({{1+sqrt(5))/2).n())

(-~ - - RN

Evaluate

3 5 8 13 21 34 55 89 144 233 377 610 987 1597 2584 4181 6761

2'3'5" 8713721734755 89 ' 1447 2337 377 610" 987 ' 1597 2584 418)
[1.00000000000000, 2.00000000000000, 1.50000000000000, 1.66666666666667, 1.6000000001
1.61803398874989




Nohw g wa fregp fo Sas.
cecargite dormia bt oo

el CondiTiony we Coudd gelta Aiffens:
Lo O~ (*‘&\: fe m2 2

( 2
q&’ (“‘" ;’%—_@): "f‘ {”,'_'?
;___(Hufg)
= ( ’(’QrLY;)(H-JB\)
. 2 4285 2 +2J%
4 7 T4
-6
— ( ~ s
A3 =\ + 4o =



S(Lﬁus(/\.dﬁc '-'é(g /-([2
’/_:_\? l"'\(;—' ("&/5: /ﬁ\él

/ >0 2, =, T2
I B (,_\g\

So. nGipn= 5T

A&Qf M\;q_c;(‘gdtfj (,,.\7“6\ Adteseit
lf‘mﬁubo q{Q,)LF@; (‘ZquC(;JQ WQPM}@

\
am= |tz

sadts c‘m\c\\ 5,@MW
Covug o [+ F a4 BF

& . _
Conver seq o (::7_—@‘ L@Q(: (_?\@-

——
——

o bt 18 0 Co
&QQO& Qﬁvc‘ull’[ﬂr(:{m/k@ y{
{fe Q‘jm,,qf@& 5‘7570/\ = ("‘5&_! ‘




l"(' u a_ 5+ $€ {BQ\( Lﬂb\M ?o(c;‘t

(L‘é Q< Close = W& 4R S qodves,
el U"\"Q’B‘lr{-" LTZ%>

+v (:-\_r?. -‘(ﬁk 5 w’”(( nol ™
Rt & (:z.@ -

@M— # C(O’“&"’Q’M “@/\M—«L\ Yo
® Recursioe eafw Lot

)ei“'""‘tﬂ
@ ( 3 L 312

15" 5°
Oz, 2 =y
D 8y )BsJ'

@(zo \)C :27_‘—\3‘ éS‘ ‘5&'>






